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BOTANY
( General )

" Course : 401"

( Plant Physiology and Economic Botany )

Full Marks : 48
Pass Marks ; 14

. Time: 2 hours

The figures in the margin indicate full marks
for the questiong

1. (a) wﬁmﬁmwlgmﬁw.

1x5=5
Fill in the blanks of the fo lldwiﬁg with
appropriate word(s) ; }
() s Rowm IR e = |
Cell division is c¢q,
hormone. sed by
22P/1150

( Turn Over )

P



P2
¥

. ) ST

(2)

eleq;clj;t buﬂds the cell wall.
(if) TR v 29 gH Tesifre @1 TA

|
—_

The first stable product of Calvin
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What; is natural auxin? Discuss the

physiological role of auxin in plants.
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What are Cq plants? What are their

differences with Cs plants during carbon
assimilation? Write briefly the Hill’s reaction.
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What is the path of ascent of sap? Who first
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